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Differentiate each of the following with respect to x.

Wy i) x*+y*-5 (iii) xy+x+y

(iv) cosy (v) eU+2 i) xy?

(vii) 2x%y° (viii) x+Iny-3 (ix) xe’—cosy

(x) x*Iny (xi) xe¥iny (xii) xtany— ytanx

Find the gradient of the curve xy? = 5In y at the point (0, 1).

Find the gradient of the curve e¥"* + ¢“S¥ = e + 1 at the point (g, -725)
(i) Find the gradient of the curve x? + 3xy + y* = x + 3y at the point (2, -1).
(ii) Hence find the equation of the tangent to the curve at this point.

Find the co-ordinates of all the stationary points on the curve x* + y? + xy = 3.
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